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1. The Governor of an Indian State is appointed
by

(A) Prime Minister of India
(B) Home Minister
(C) President of India

(D) The Chief Justice of the Supreme
Court

2. Which one of the following ports is not in
Pakistan?

(A) Karachi

(B) Gwader

(C) Pasni

(D) Bandar Abbas

3. The capital of Australia is
(A) Melbourne
(B) Sydney
(C) Canberra
(D) Perth

4. Which one of the following states criticised

India for abrogation of Article 370 of Indian
Constitution?

(A) Bangladesh
(B) UAE

(C) Turkey

(D) Saudi Arabia

5. In which year did India host the
Commonwealth Games?

(A) 1990
(B) 2010
(C) 2014
(D) 2018

6. The 2020 summer olympic games will be
held in

(A) Tokyo
(B) Beijing
(C) Paris
(D) Moscow

1. S0eT GF6 WK AT ABTAAE Weast
A

(A) SIATSA 24D

(B) FAigE

(C) g

(D) A wimeted 4w [apasife

2. i Shafde el g @Rba S=E=
AP 77 2

(A) Faif6
(B) (oM

(C) #IFEH

(D) 99 S|

3. SRR Aea 2=
(A) GEGN
(B) Fieat
(C) T
(D) #rY

4. SR MRAE 370 4131 AT I3 &+
ity Sfafie agelem g @b oiFe THIE
FAEAGA FCATZ?

(A) AET™

(B) eg@ Wiz

© 7=

(D) G SIS g

5. FUNGTHEAR (TP (I ISTA AT Sfo®
ET ik

(A) 1990
(B) 2010
(©) 2014
(D) 2018

6. 2020 AER AR St efswfae
S A @ A GI

(A) (Gifpe
(B) @fer
(C) =nifE™

(D) st=




7. Who among the following Nobel Laureates
did not have any significant connection with
Kolkata?

(A) Mother Teresa
(B) H. G. Khorana
(C) C.V.Raman
(D) Avijit Binayak Bandyopadhyay
8. Which one of the following states is not a
member of BIMSTEC?
(A) Pakistan
(B) Myanmar
(C) Sri Lanka
(D) India

9. Keshav Maharaj is a cricketer who plays
for

(A) West Indies
(B) England
(C) South Africa
(D) India

10. Who among the following was the first
President of Indian National Congress?

(A) Dadabhai Naoroji

(B) Allan Octavian Hume
(C) W.C. Bonnerjee

(D) Surendra Nath Banerjee

11. Who is currently the Governor of Jammu
and Kashmir?

(A) N.N. Vohra
(B) Jagmohan
(C) Satya Pal Malik
(D) Girish Chandra Saxena
12. Given below are the names of some sports

persons and the games in which they excelled.

Which one of the following is correctly
matched:

(A) Christiano Ronaldo  Cricket

(B) Simona Halep Tennis
(C) Tiger Woods Billiards
(D) Joe Root Foot ball
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7. e Sfafe @i <z Refios swg @w
Jfea T A0 ReT @It Qisicata foe 12
(A) WIF GEe
(B) =Rwsiifa caraiat
(C) 1. fS. aw9
(D) wifefere fmrre acmistig

8. feflle aRefm st @l BIMSTEC
CSIP A%y 7H ?

(A) B
(B) SR
(C) Jer=l
(D) ©iF®

9. (@[ G @ CE T FE6 Qe
©f 2&
(A) STEG 3w
(B) 3wH®
(C) W nifzpapt
(D) ©®

10. Tty Sfafe ez T & Srer aew
AT AT oS foeie 2
(A) WMol FeTars!
(B) Sy Sigfeaia fRe
(C) o™ b G
(D) A PG

11. IS Y 8 FPAEF ASTA LT
(A) @, 9. (ol
(B) olGIe
(C) Ayl Wifers
(D) foifet ve A=

12. S5 g CATARITGR N G2 (@ AR (LA SiAl
AT ©f FST FRNR | (AETAGH 19 G322t
Bewe fHfzre wace 2@

(A) fFPoaeE @mics oo

(B) St Zeet G
(C) BRRoia Tww Rferares
(D) (el %5 Fo4e1
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13. India’s ‘Look East’ policy was launched by
(A) Narasimha Rao
(B) Atal Behari Vajpayee
(C) Manmohan Singh
(D) Narendra Modi

14. Who was the first Chairman of India’s
Atomic Energy Commission?

(A) Homi Bhaba
(B) Vikram Sarabhai
(C) R. Chidambaram
(D) H. N. Sethna

15. The 2019 Nobel Prize for Peace was
awarded to

(A) Xi Jinping

(B) Abiy Ahmed

(C) Greta Thunberg
(D) Malala Yousufzai

16. The first Indian Governor General of
independent India was

(A) Dr. Rajendra Prasad
(B) C. Rajagopalachari
(C) Dr. B.R. Ambedkar
(D) Dr. S. Radhakrishnan

17. When did Alexander invade India?
(A) 323 B.C.
(B) 325B.C.
(C) 326 B.C.
(D) 327 B.C.

13. ©IA0e3 ‘A T (Look East) Afes o1

A
(A) At aNe
(B) Sibet it A
(ORCCIETAE
(D) «FH it

14. ©ced e IFHER dd Folsife
ferem

A) @fert

(B) @ e
(C) wIi. fonrwaw
(D) @3b. Ga. il

15. 2019 it [ =@ & ‘@iEe s
CACET

(A) ™ femfor

(B) S e
(C) it gwatsf

(D) Wil RO ey

16. T ©IACE 2 ST NSH (GAIIEA
o=

(A) © qlted 2PV

(B) . ArTaiot=mRt

(C) ©: 7. Wi, wiravd
(D) ©3 AJoi# ALIFIen

17. SIEFEIEE T SIIGIY S FC ?
(A) R55F 3239
(B) f%oF 3259
(C) f&3%9% 326-9
(D) %o 3279
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18. Turkey recently launched an attack on the
Kurds residing in

(A) Iran
(B) Iraq
(C) Syria
(D) Saudi Arabia

19. Who among the following is not a recipient
of the Nobel Prize in literature?

(A) Toni Morrison
(B) Gabriela Mistral
(C) Arundhati Roy
(D) Olga Tokarczuk

20. Rabindra Nath Tagore gave up his Knight-
hood in
(A) 1905
(B) 1911
©) 1914
(D) 1919

21. Which of the following states in India is not
a tea-growing state?
(A) Assam
(B) Tripura
(C) Madhya Pradesh
(D) West Bengal

22. In which of the following states the head of
India’s diplomatic mission is designated ‘High
Commissioner’?

(A) USA
(B) UK

(C) Germany
(D) Russia
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18. frs et (reiesfera sy i orest 3ol
AR ST e ST GF S| FACR?
(A) T
(B) T
(C) Pl
(D) cTifr =7

19. faxfeiRe Ifems g @ ATy @iEE
LEEERICITE
(A) B wfaom
(B) swfacE g
(C) =& A

(D) &%l GIPgS

20. I IFA S TRG’ Gl siferenst wcaw
(A) 1905 A
(B) 1911 M=
(C) 1914 =
(D) 1919 A

21. fasfaRe aepelem St @Ebee vaa
Tesiive 27 1 2

(A) Y
B) fasn
(ORE
(D) “Afeaa%

22. Ty Sfafle ajelm g @R ewey
ORI A0S ‘2R FRHIR I 202
(A) T&4G
(B) I&Iey
(C) wsfat
(D) APt
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23. Usain Boltis a
(A) Long distance runner
(B) Swimmer
(C) Basket ball player
(D) Archer

24. Whichamong the followingrivers originate
from the Himalayas?

(A) Damodar
(B) Cauvery
(C) The Bramhaputra
(D) Narmada

25. Whoamong the following was not ahockey
player?
(A) Dhan Chand
(B) Milkha Singh
(C) Sardar Singh
(D) Sandeep Singh

26. Which one of the following is not an
independent state?

(A) Vanuatu
(B) Netherlands
(C) Alaska
(D) Canada

27. Amarkantak is in
(A) Maharasthra
(B) Madhya Pradesh
(C) Rajasthan
(D) Uttarakhand

23. Usain Bolt- 43¢
(A) R=ITET CTeRm
(B) frei®
(C) THLIE (AEG
(D) SiFIe

24, ey CfefRe TRelrm W @Eba O
e e
(A) WG
(B) FIadt
(C) I=7fa
(D) wwsfat

25. farw SfaRe gfemm wy @ 2 @Eme
e ?
(A) QbW
(B) fierat fig
(O RILEREH
(D) et fre

26. fars Sfafde gmelaa sy Wb b 3@
A T2
(A) ©IER
(B) GMIFETIGH
(C) e
(D) FMIC!

27. SEESHS =230

(A) SANE
(B) SGAme

(C) arergis
(D) T&aree
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28. The ISRO has its Headquarters in
(A) Hyderabad
(B) Bengaluru
(C) Ahmedabad
(D) Thiruvananthapuram

29. Who is currently the Foreign Minister of
India?
(A) Ajit Doval
(B) Rajnath Singh
(C) Vijay Gokhale
(D) S. Jaishankar

30. Which one of the following countries was
recently in the news for burning of the World’s
largest rain forest?

(A) Mexico
(B) Brazil
(C) Venezuela
(D) Ecuader

31. Which one of the following does not cause
global warming?
(A) Burning of fossil fuels
(B) Petrol cars
(C) Solar energy
(D) Deforestation

32. Identify the statement that wrongly depicts
Mamallapuram as
(A) a UNESCO cultural heritage site.
(B) the ancient capital of the Pallva
Kingdom.
(C) hometothe development of Kathakali
dance form.

(D) a tourist spot.
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28. ISRO-9F 7 WI T
(A) EMARIH
(B) ([RHATFCS
(C) SICMIAIT
(D) fowames iz

29. forw Sfafs afema sy a6nE @ siares
ot W@ 2
(A) wfers @rerE
(B) e i
(C) e (ot
(D) 9. TEEFT

30. fRT43 J2S rain forest-q SRIST G
A2 It (I (0T N HeAW PieaieTieeT foet 2

(A) IR
(B) affew
(C) cofvget
(D) IR

31. RevaSeerea o AR srdeka e
@0 WA 752

(A) GRM glerfad I3
(B) ol IS

(C) onaf&x 37

(D) SR

32. sEmsEw T ey SfaRe Ryfeekm
A (I ST 2

(A) @i @36 UNESCO Seifne siggfesn

|
(B) «ft fet “imra qeiti Uit |
(C) AT FAFfE J0o5a & |
(D) @6 93 Ao ar |
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33. Where did the INA unfurl the Indian flag
after defeating the British on 14th April 19447

(A) Imphal
(B) Moirang
(C) Kohima
(D) Moreh

34. The book ‘Asani Sanket’ was written by
(A) Bibhuti Bhusan Bandyopadhyaya
(B) Manik Bandyopadhyaya
(C) Samaresh Bose
(D) Sirshendu Mukhopadhyaya

35. Inthe 2019 Parliamentary elections, Rahul
Gandhi was elected from

(A) Amethi

(B) Wayanad

(C) Thiruvananthapuram
(D) Medak

36. Which Indian cricketer has scored the
highest number of double centuries in Tests?

(A) Sunil Gavaskar
(B) Virat Kohli

(C) Sachin Tendulkar
(D) Virendra Shewag

37. Which was not a Portuguese colony in
India?
(A) Pondicherry
(B) Chandannagar
(C) Goa
(D) Andaman and Nicobar Islands

33. 1944 AT 143 9fem &io cRRIRAwE |
A I INA @RI ST 2SIl Sraieiw Fafee |
G GRS AN ‘

(A) T4 |
(B) 4R
(C) cifEn
(D) (@ {

L
34, PR’ STEa BRI |
(A) Faefoge atieigm ]
(B) Wi« Icvioiiga |
(C) T
(D) g el

35. 2019-97 FewE FvE T S@ @
fibeea (e TwEie R GTo |

(A) ST
(B) A=W ‘
(C) fowamssian |
(D) GIe

36. (5% C4eMw (@I ©ige o FifEe ’
fA-*1® a9 I ?

(A) T S
(B) fRais ezl
(C) B (TERI
(D) JczE GiEdlt

37. @D SIS AgNeHa e & e '
(A) AR
(B) 591
(C) ot
(D) S 8 PR Aoisjg



38. Kamarpukur, the birth place of
Sri Sri Ramkrishna, is in
(A) Howrah
(B) Hooghly
(C) East Bardhaman
(D) Nadia

39. Swami Vivekanandadelivered his Chicago
Addresses in

(A) 1890
(B) 1892
(C) 1893
(D) 1894

40. From which parliamentary constituency did
Prime Minister come in 2019 elections?

(A) Lucknow
(B) Varanasi
(C) Raebareli
(D) Ahmedabad

41. A sum of money becomes 4 times of itself
in 2 years at compound interest. The rate of interest
per annum is

(A) 150%
(B) 100%
(©) 200%
D) 75%
42. A alone cl:an do % of a work in 5 days and
B alone cando — of the same work in 4 days. How

3
many days working together will they finish the

work?
2
(A) 25 days
(B) 3 days
(C) 9 days
5
(D) Sﬁ days

A-9
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38. & I IRFWIA TIZA FINAATI 22
(A) Q€Y (@i
(B) =5 (&t
(C) 7% 3 (o=
(D) A (S

39. M Rz el of seweE gl
frcafecem
(A) 1890 I
(B) 1892 it
(C) 1893 A&
(D) 1894 I

40. 2019 A AT WAbE 4w @ @
45a 8 (AT G 2

(A) LTS
(B) AR
(C) IR
(D) SCmAM

41. IW @A P bEfm WA YW 2 /A
HAW-SIPIE 4 @9 2, OF AE T 7 F9 2

(A) 150%
(B) 100%
(C) 200%
(D) 75%

42. Aaasﬁ?asm —wwsﬁma«B €3
e W@MﬁﬁWeﬂWA@Bamwcf
zﬂﬁﬁm

(A) 2%%
(B) 3
(C) 9=

5
®) 54 il
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43. Whatrate per centis 1 minute 48 seconds to
an hour?

(A) 1%
(B) 2%
© 3%
(D) 4%

44. A 60 metre long train is running at a speed
of 40 km per hour. It will cross a railway platform
90 metre long in

(A) 14 seconds
(B) 13-5 seconds
(C) 14-5 seconds
(D) 13 seconds

45. A fruit seller bought 15 apples for Rs. 12
and sold 12 apples for Rs. 15. How much profit or
loss did he make?

(A) 56:25% profit
(B) 56:35% profit
(C) 56:25% loss
(D) 56-35% loss

46. Onsimplification, 3034 — (1002 =20-04) is
equal to
(A) 2543
(B) 2984
(C) 2993
(D) 3029

47. Successive discount of 20% and 25% are
equivalent to a single discount of

(A) 33%
(B) 40%
(©) 35%
(D) 45%

A-10

43. 1 91 3 Ao 1 Hif 0 48 Gas?
(A) 1%
(B) 2%
©) 3%
(D) 4%

4. 60 o7 7191 @36 G 9B 40 R @
4if3® 2= T T 90 o o9 @36 AHws
Gfee FAE?

(A) 14 CTEE
(B) 135 GRS
(C) 145 CTICS
(D) 13 TS

45. 93 F& [Aere! 12 51t e 151 wiester [
15511 1216 Siitsie s 399 | o 3% @S 31 %o
26 ?

(A) 56:25% =11e
(B) 56:35% e
(C) 56:25% =f®
(D) 56:35% #f®

46. 3034 — (1002 + 20:04) -9 FAETS e 7
(A) 2543
(B) 2984
(C) 2993
(D) 3029

47. 20% 9% 25% TR RG-97 TNGe] 2 TS
*OIH R ?
(A) 33%
(B) 40%
©) 35%
(D) 45%




m, et

A-11

48. 15% loss on selling price is what per cent
loss on the cost price?

l 0,
(&) 1353%

(B) 23%%

2
©) B%

(D) 2354

49. The ratio of the ages of three persons is
7 : 5 : 4. The sum of the ages of the first and third
exceeds the double of the age of the second person
by S years. Determine the age of the second person.
(A) 20 years
(B) 25 years
(C) 27 years
(D) 30 years

50. Find smallest number which when divided
by 20, 42 and 63, leaves the remainder 1 in each
case.

(A) 1241
(B) 1261
(©) 1259
(D) 1239

1 2
51. If201+30——*—35— then the * mark

2 3 3’
place is

1
(A) 155

1
®) 154

1
© 153
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48. REFTETA @547 15% S 2, TV

8T T oI HfS (I ?
1
(&) 135:%

(B) 23%%

2
(©) 1353%

2
(D) 232%

49, TSNS RO TGAC 7 :5: 4 | AL S PO
GEA IEE AN B8R S e e swers!
5 qua @R | Tew fes T T2

(A) 203=3
(B) 253=1
(C) 273=1
(D) 303=9

50. HES (I AANE 20, 42 92 63 71 ©%
FAE AfOTHE 1 T[T A2
(A) 1241
(B) 1261
(C) 1259
(D) 1239

51. 3f 20%+30%—*=35% 73, O @ * oz

FBre IP® 2@

1
(A) 157

1
(B) 152

1
© 15¢

1

(D) 157
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52. The price of coal is increased by 20%. By
what per cent a family should decrease its

consumption so that expenditure remains same?
(A) 40%
(B) 23%%

©) 20%

(D) 16§%

53. A tap can empty a tank in 30 minutes while
second tap empty it in 20 minutes. If both the taps
are kept open, how much time is required to empty
the cistern?

(A) 12 minutes
(B) 25 minutes
(C) 50 minutes
(D) 55 minutes

54. A certain principal amounts to Rs. 500 in
3 years and Rs. 540 in 5 years. Find the rate of
interest per annum.

52,

(A) ﬁﬂ’
50

B Fi%

56,
© 7%
54,

D) 7%

55. 300 gm of sugar solution has 40% sugar in
it. How much sugar should be added to make it
50% in the solution?

(A) 10 gms
(B) 40 gms
(C) 60 gms
(D) 8 gms

52. I AEE WN 20% Iw oM @3
AT 46 G2 TS FAAF I 39T AW

(A) 40%

(B) 23%%

©) 20%

(D) 16%%

53. @3 bramsia 4o w1 e I 30 BTG
3% 20 TS oI 2ifer =1 1 9f6 7e @z Y=
it ©f$ ramsif <1 =x

(A) 125
B) 25 ff
(C) 50 fafe
(D) 55 fafG

54. (@I AL 3 IR AW-CE 500 Bt @3k 5
A W-CE 540 DRt 23 | AT e 29 Fe
52
11
50
B) 7%

56
©) ﬁ%

54,
(D) ﬁ/o

A) =%

55. 300 its Bofva w3t 40% B =i | €2 g
wRe 3o o Bl fiftre s R s @i
g 50% 2@

(A) 109
(B) 40 9™
(©) 60 g™
(D) 8 &M




56. If 45337 * 2 be divisible by 11, the * mark
digit is
(A) 8
(B) 6
©) 4
(D) 2
57. Find the amount on Rs. 625 for 2 years at 4%
compound interest, interest being payble annually.
(A) Rs. 756
(B) Rs. 676
(C) Rs. 767
(D) Rs. 675
58. fA:B=4:3,B:C=3:5andC:D=10:9
then theratio A: B:C:Dis
(A) 8:6:9:10
(B) 8:9:6:10
(C) 8:6:10:9
(D) 6:8:10:9
59. A alone can do a piece of work in 21 days.

B, whois 40% more efficient than A, will finish the
work in

(A) 10 days
(B) 12 days
(C) 15 days
(D) 18 days

60. The value of 001+ /00064 +~/016 is
(A) 04
B) 03
©) 07
(D) 0-8

61. Two numbers are in the ratio 3 : 5 and their
HCF 12, their product is

(A) 1620
(B) 1800
(C) 1980
(D) 2160

A-13 BDA/19

56. T 45337 * 2741 11 72 Rerey =@, o@
* fofers i @ =i e T3 ©f =
(A) 8
(B) 6
©) 4
D) 2
57. ARE 4% vaFfa 2= 7 625 51l 2 TR
AH-SPTE S 22 (T AF 1 IS)
(A) 756 Bizl
(B) 676 izt
(C) 767 =t
(D) 675 it

58. AWM A:B=4:3,B:C=3:54RC:D=10:9
RASEFA:B:C:DeAe 39°?
(A) 8:6:9:10
B) 8:9:6:10
) 8:6:10:9
D) 6:8:10:9

59. A @36 Fw 21 W FICe @ | B,
A-97 BT 40% Q@M 7 | OiZTe! 68 G2 IIE FA0S
B-93 3 FAIE

(A) 10T=
(B) 12
(C) 15T+
(D) 18 s

60. \J001+/00064 +/016 -4 FETEN e

*W
(A) 04
(B) 03
(©) 07
(D) 0-8

61. %o AT 5179, 12 9IRSl SGAS 3 : 5,

IR QeI
(A) 1620
(B) 1800
(C) 1980
(D) 2160
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62. The simplified value of:
873x873x873+427x427x427
873x873+427x427—-873x427
(A) 11
(B) 14
(©) 13
(D) 15

63. 1f 60% of P = 30% of Q, then P = x% of Q.
Find x =?

(A) 05

(B) 2

(©) 50

(D) 0-005

64. The simple interest on Rs. 400 for 5 years at
6% per annum is

(A) Rs. 140
(B) Rs. 120
(C) Rs. 110
(D) Rs. 124

65. The average of 7 consecutive numbers
is 20. The largest of these numbers is

(A) 24
(B) 23
(©) 22
(D) 25

66. A boat running downstream covers a
distance of 24 kms in 4 hours, while for covering
the distance upstream it takes 6 hours. What is the
speed of the boat in still water?

(A) 55 km/hr
(B) 6 km/hr
(C) 35 km/hr
(D) 5 km/hr

873x8T3x873+427x427x427

62.

873x873+427x427—873x 427
IS FAE @ T ST T ©f &

(A) 11

(B) 14

©) 13

(D) 15

63. 3t P-93 60% = Q-9 30% T, @ P = Q
I xD TAx=F9?

(A) 05
(B) 2
(©) 50
(D) 0-005

64. AT 6% 177 Y 400 B 5 IRRF
FO?
(A) Rs. 140
(B) Rs. 120
(C) Rs. 110
(D) Rs. 124

65. #1517 710 MR G 20 20, G N0 JZ&N
Y Fo?
(A) 24
(B) 23
©) 22
(D) 25

66. GI (T FIOOT S 4 B 24 [/
TAY STy FA00 AT | 63 Y 6 IB @Ied
Af e SfeT 31 | B3 o @Fim @5 o2

(A) 5-5 fRf/a%t
(B) 6 /=%
(C) 3:5 ffii/=%t
(D) 5 ffi/a%t
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67. Erd of anumber is 36. Find out 25% of that
number.

(A) 1325
B) 135
(€) 1351
(D) 13-65

A-15

68. A number when divided by 119 leaves
remainder 19. The same number when divided by
17, will leave remainder

(A) 2
B) 7
(©) 10
D) 5

69. A person travels from A to B at a speed of
40 kmph and returns by decreasing his speed by
50%. What is his average speed for both the trips?

(A) 16§kmph
(B) 26 kmph

(©) 36—§—kmph

(D) 26%kmph

70. Ina 100m race, A runs at 8 km per hour. If
A gives B a start of 4m and still beats him by
15 seconds, find the speed of B in m/sec.

7
(A) 3E m/sec
1
(B) 3-6 m/sec
€ 3£ m/
© 15 sec

(D) % m/sec
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67. T RYE % ST Wi 36 20, FRADA
25%-43 T F9?
(A) 1325
(B) 135
(©) 13:51
(D) 1365

68. G20 FALAE 119 7A! ©I5t FAC 19 S
A | BT 17 2141 St FACE Sl AE

(A) 2
B) 7
©) 10
(D) 5

69. 93 & 40 BTG/ Tt 5ifeT® A (2T B
o1fs o o1 sifetast 50% 21 I e =i | s
Qg FET T s Fo 2

A) 16§ ReeiiiBra /<!
(B) 26 =it/

(©) 36—§— IEIGIREIARD
(D) 26% FfitE/a%!

70. 100 FEa @ efwaifarerm A 9t 8 [f
@t GG | B 34+ 4 falbi T 949 A (TS &% 3
©q¢ B (& 15 GRS *ifers 3 | B-97 5o
fil./ 1~ fefa =)

7
(A) 3E /@

1
(B) 3E /e

]

5 L./

©) 3
8
D) 3 /.
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71. Fill in the blank with an appropriate
preposition from the list below:

The cat sneaked in and sat the
little girl.

(A) under

(B) besides

(C) into

(D) beside

72. Complete the idiom by choosing the right
word from the options given below:

He moved heaven and
for his friend.

(A) hell
(B) sky
(C) cosmos
(D) earth

to get bail

73. Find out the correct sentence from the list
below:
(A) The behaviour of the children were
not up to the mark.
(B) The behaviour of the children was not
up to the mark.
(C) The behaviours of the children was
not up to the mark.
(D) The behaviours of the children were
not up to the mark.

74. Change from Active to Passive voice,
choosing from the options below:
The tutor taught Ronny Mathematics for
two years.
(A) Ronny was taught by the tutor
Mathematics for two years.
(B) Mathematics was taught for Ronny
by the tutor for two years.
(C) Ronny was taught Mathematics by
the tutor for two years.
(D) Ronny was taught by the tutor for two
years, Mathematics.

A-16

75. Change from Active to Passive voice,
choosing from the options below:
The society will help the poor children with
money.
(A) The poor children will be helped by
the society with money.
(B) The society will be helped by the poor
children with money.
(C) The poor children will receive help
from the society with money.
(D) The poor children will help the society
with money.

76. Choose the correct form of the verb from
the options given below:
Have you heard that Mr. Basu
the Chairman of the Executive Committee?
(A) had being appointed
(B) were appointed
(C) was been appointed
(D) has been appointed

77. Complete the idiom by choosing the right
word from the options given below:

The women in the country fought tooth and
for liberation.

(A) tongue
(B) mouth
(C) nail
(D) hand

78. Fill in the blank with an appropriate word
from the list below:

Neither of the two brothers Ramesh and
Suresh found suitable for the job at the
interview held yesterday.

(A) were

(B) are

(C) was

(D) have been
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79. Find out from the given words the opposite
of ‘Dangerous’.
(A) Terrible
(B) Quiet
(C) Safe
(D) Gentle

80. Choose the correct form of the verb from
the options given below:
By the time we reached home the rain

(A) has stopped

(B) had stopped

(C) had been stopped
(D) was stopping

81. Complete the idiom by choosing the right
word from the options given below:
She could not make up her about
what to buy.
(A) decision
(B) logic
(C) mind
(D) heart

82. Choose the correct spelling from the options
below:
(A) Ambitious
(B) Ambitous
(C) Ambicious
(D) Ambiteous

83. Replace the missing word with the right
word from the options below:
A list of candidates for the
admission test has been put up on the notice-board.
(A) illegible
(B) honourable
(C) eligible
(D) ideal

BDA/19

84. Find from below, the word that means
‘a boy who frightens weaker boys’.
(A) Tramp
(B) Bully
(C) Hypocrite
(D) Tresspasser

85. Choose the correct spelling from the options
below:
(A) Satellite
(B) Satalite
(C) Satallite
(D) Satelite

86. Find out the right word to complete the

following sentence:

The government punished him because of
his activities.

(A) illegal

(B) antisocial

(C) charitable

(D) shameful

87. Change from Passive to Active voice,
choosing from the options below:
Many things may be accomplished by a
little effort.
(A) They may accomplish many things
by little effort.
(B) They can accomplish many things by
little effort.
(C) One may accomplish by little effort
many things.
(D) One may accomplish many things by
a little effort.

88. Fill in the blank with an appropriate
preposition from the list below:

The deeris afraid _
(A) from

(B) by

(C) for

(D) of

the tiger.

Please Turn Over
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89. Change the following statement into an
interrogative sentence:
She had time to finish all the questions.
(A) Do you think that she did have time to
finish all the questions?
(B) Had she no time to finish all the

questions?

(C) Did she manage to finish all the
questions?

(D) Had she time to finish all the
questions?

90. Find the word which has the same meaning
as ‘Cautious’.

(A) Peaceful
(B) Wise

(C) Careful
(D) Courageous

91. Find from below the word that means
‘esteem’.

(A) Respect
(B) Enmity

(C) Elegance
(D) Famous

92. Fill in the blank with an appropriate word

from the list below:

Early to bed and early to rise a
man healthy, wealthy and wise.

(A) make

(B) made

(C) have made

(D) makes

93. Choose from the list below the most
appropriate word to fill in the blank:

An action which is most difficult and almost
impossible to explain is

(A) unavoidable
(B) inexplicable
(C) indescribable

(D) incoherent

A-18

94. Fill in the blank with an appropriate
preposition from the list below:

The Emperor Akbar ruled
kingdom.

(A) with

(B) over

(C) on

(D) by

avast

95. Choose the most appropriate word to fill in
the blank:

Ratna’s motheris
sign her name.

(A) literate
(B) strange
(O) illiterate
(D) deaf

,shecan’teven

96. Choose the appropriate word to fill in the
blank:

The man seems because he
frequently laughs loudly for no reason.

(A) happy
(B) cheerful
(C) abnormal
(D) admirable

97. Fill in the blank with an appropriate
preposition given below:
Ratan entered the room and looked
the painting on the wall.
(A) at
(B) down
(© up
(D) in

98. Find out the right word to complete the
following sentence:

We buy meat from a
(A) Green grocer
(B) Butcher

(C) Broker

(D) Baker
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99. Choose the most appropriate word to fill in 100. Find out the appropriate word or words that
the blank:

not

Amit’s story about ghosts and witches is

(A) believable

(B) strange
(C) wild
(D) relevant

befits the underlined part of the sentence:

When buying a gift one should keep in
mind the person’s likes and dislikes.

(A) Invent

(B) Ignore
(C) Think about
(D) Admire
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